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50[#L #0th  [BRAFFARFE | X3 | 0.52 57.67| JuMl 6 9
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FEEES 2016FE FFEKERFR 50¥>J (TOP50)
5F 100m FkE BF 200m FikE

rank K& FRiE&in [ ¥ | RT J-) [ RX&E3-R[# [ K] [rank K& FRE&in [ ¥ | RT J=-) | KR3-R[ #8 [ K&
1|BH FH | KREEKXF | X3 | 0.67 58.85| M |13 3 1= X |EEAEX K3 | 0.64[ 2:08.15] JFuMl 4 5
2080 —¥  [FfEEX X2 | 0.72 59.04| B=® |17 4 2|BR AR FRRK AR3| 0.74] 2:08.48] HE®E [13 4
3|=2% K |[EEAEX X3 | 0.63 59.52|  JuM 8 5 3| ARARBKED |FURK X2 | 0.72| 2:09.01| PBd= [13 5
4|AF BE HAX X2 | 0.70 59.70| B=® |17 3 4|FH = FRRK A3 | 0.69] 2:09.20f FE®E [13 7
S| 2t HFRK K2 | ----- 59.80| & |10 3 SETTR- B ERAX A3 ] 0.72| 2:09.21| B§® 5 8
BEEIESEERES A3 | 0.63 59.83| Juill 8 6 6| EHRAES  [RIFX K2 | 0.72] 2:09.37| HE®E [13 8
7|18 18 KIBKRZF K2 | 0.66] 1:00.11| PR/ [13 2 RN ES EESN X2 | 0.71| 2:09.51| PBd= [12 3
8|l x& E IEEPS K2 | 0.70] 1:00.12| FBE®E |16 3 8MET &k  |[REtEEX K1 | 0.74] 2:09.54] HExE |11 4
o|fFEx =a KBRFEARS | K3 | 0.78] 1:00.17| B |13 5 |1 18 KIBKRZ K2 | 0.72] 2:09.64 M 9 5
10[F%F IEREX X4 | 0.79] 1:00.47| HE=E [13 2 10[ikAH [E EHERN A3 | 0.80 2:09.76] FBEi®E [13 1
11| ERRAEE  [BRFX X2 ] 0.75[ 1:00.51| PBd= [17 2 115K & BEHAKRZE K2 | 0.65[ 2:10.21| P 9 3
12|HK 5% HAX A3 | 0.66] 1:00.55| BExE [17 6 12(B¥ FEREE  |HPRK K1 | ----- 2:10.56| HEB 5 2
13 # R ERAX A3] 0.69( 1:00.57| Bd= [17 1 13| KXF BA  |[HEEEEX X2 ] 0.80 2:10.83| Bd= [13 2
14[FEABER  |EBX X2 | 0.74] 1:00.81| FBE§E [14 3 14 [ B FERX R2 | ----- 2:10.96| B 5 3
15|XF 1556 HFRK K2 | ----- 1:01.00f =& [10 5 15[ER B8 ERX X2 | 0.68] 2:10.99| B= |11 5
16|lUA #B% [ERERS A3 | 0.75] 1:01.04] HExE [17 5 16[HE ’r*j EEAEX K2 | 0.68[ 2:11.08] JFuMl 4 4
17[184K & BEHAKRF K2 | 0.71] 1:01.09| @ [13 7 17[F#= FRRX A3] 0.92 2:11.41| B§=E [12 5
18[RAR JE FERX X4 | ----- 1:01.13[ =& [10 4 18|HE E@ﬂj HAFEX K2 | 0.71] 2:11.54| BExE [13 3
18[Fe BHR =N A3] 0.70{ 1:01.13| B§= [16 4 19(HO B3 |ERBEERK | K3 | 0.66| 2:11.81] FuM 4 2
20|PF Eth FURK A1 0.72] 1:01.15| BExE [17 7 20|EXR RE IEEPS A1 0.73] 2:12.05| HExE [11 7
21| K% BEA  [EEEEX X2 ] 0.78] 1:01.17| Bd= [16 2 21|ILK % =N A3] 0.77 2:12.08| Bd= [13 6
22|5;A &K [EBRK A3 | 0.70] 1:01.32| BExE [17 8 22|18 Bmia | ARABXFE | K3 | 0.78] 2:12.19] EA 9 7
23|44 mE [ REXF K1 | 0.61] 1:01.34| B [12 7 23|iEER K— VE TN X2 | 0.73] 2:12.35| B§®E [12 6
24|AHE RE JUNHSTK A1 | 0.65[ 1:01.35] JuMl 8 7 24pA8 & BEHARF K2 | 0.69] 2:12.47( FEm 9 6
25| AH 88 FREEK X1] 0.66 1:01.36] PBd= [15 6 25[h0fE 5hz HARX X1] 0.69( 2:12.48| B [12 2
26|85 -t BEHARF K2 | 0.66] 1:01.48| B\ [12 5 26| XF I8 FERX R2 | ----- 2:12.54| 9B 5 6
27|1H & FHEEX A3] 0.79( 1:01.51| Bd= |16 6 27|R%F ER EEEHX X2 | 0.73] 2:12.58| B§= [10 6
28T & |fREtEEXR A1 0.72] 1:01.58] FBE®E [15 4 28|AH BEE [FBEREK A1| 0.69] 2:12.70[ BE= 9 3
29|1£%F BETF [ RBRABAXRF | X2 | 0.64] 1:01.60( BdFE [13 8 29|37 e [HR/IX X1] 0.75[ 2:12.72| B§&= |10 5
30|z e [HRIIX X1 | 0.74] 1:01.66] FBExE [14 4 30|#K {Zth BEHARF X2 | 0.73] 2:12.88| FEf 9 8
31|EXR KF MEEPN X1] 0.68] 1:01.68| PBds&= [15 2 30[FF R FURK X1] 0.72| 2:12.88| B [12 4
32| ZEBA—BR  [EEEEX K1 | 0.74] 1:01.70f BE§®E [15 5 N|EE T JUX A1 | 0.67| 2:13.05] JuMl 4 1
32|kBE & EERAEX K2 | 0.67| 1:01.70f JFum 8 8 33|n B =N A3] 0.68] 2:13.46| BEIE [12 8
34|B EEXRES  [FRX K1 | ----- 1:01.71 &8 [10 2 34|28 X FERX K3 | ----- 2:13.63| &b 5 4
34K ShE [EILKEFE K3 | 0.68] 1:01.71| JuM 8 3 35/iK T;ﬁllz BEHAKRF K2 | 0.75] 2:14.09( M 8 5
36| Kt shE R A3 | 0.69] 1:01.73[ 7 4 36|%Il BBE IEEPS K2 | 0.74] 2:14.10f HBxE |11 1
37|88 K— VE TN X2 | 0.73] 1:02.03| B¥= [16 5 37 |=8 ,J\EE EAFFARE | K2 | 0.67| 2:14.21| 2 4
38|RiF EA BEE2X K2 | 0.76] 1:02.08] FBE®E [15 1 38|HK BEX |[EREAREX K2 | 0.66| 2:14.27| FuMl 4 6
39|MNEE 5hz EESN X1] 0.69( 1:02.14| Bd= [15 3 39| IS RER [ RBRABXRS | K1 | 0.71] 2:14.29] HE@A 8 4
401K Inf | KPRAF A1 | 0.55[ 1:02.15| FEfE [ 10 7 40|=F & |IEXREX A3 | 0.80 2:14.35 BE= 7 5
41|\F BN |BEEZX A3] 0.81| 1:02.17| BI®E [16 7 41[KK RE HFRK X4 | ----- 2:14.42| B 5 1
Q0I5 K BEHARF K2 | 0.63] 1:02.25| i |13 6 42|)IKT 3RE  |FEFEK R2 | ----- 2:14.64| 9B 4 3
43[H#EKR HHE ELTEEX X1] 0.66[ 1:02.33] B§®= [15 8 43|HE BX | KBREFEKRE [ K4 | 0.69] 2:14.71| FE§fA 8 2
44|kt BE RBFEX R2 | ----- 1:02.35[ &8 9 5 44|50 £ HAX A1 0.78] 2:14.78] HExE |11 6
45[BAR X SERK X2 | 0.74] 1:02.46| BEI®E [14 6 45|24 IR | REXF K1 | 0.62| 2:14.95( B 9 2
46|F11 B& FRRK K1 0.68] 1:02.52| FEj®E [15 7 46|FIL BE FRRK K1 | 0.64] 2:14.98| HExE [12 7
47 |PuEB A EESN X1] 0.76[ 1:02.53| Bd= [16 1 47 |FEABR  ERK X2 ] 0.78] 2:15.08| Bd= [12 1
48[l BE IEEPS X2 | 0.75[ 1:02.55| FBEE [14 5 48|8RH Mk LS A3 | 0.74] 2:15.23] HE®E [10 1
49|=F EE  |IBXREX A3] 0.79( 1:02.66] PBd= [13 7 49MH X | KBRIZKRE | K2 | 0.63]| 2:15.25| FE§f 8 6
50/\& FF KX AX1| 0.69] 1:02.68] M= |13 5 SO[/NVE MIfE  |FEBK K2 | 0.84] 2:15.44] BExE |10 3
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FEEES 2016FE FFEKERFR 50¥>J (TOP50)

5+ 100m N5I54 BF 200m N5I754
rank K& FRiE&in [ ¥ | RT J-)0 | R&J-R|# [KE&| [rank K& FRE&in [ ¥ | RT J=-) | KR3-R[ #8 [ K&
12T &k HAX X3 | 0.71 51.49] B®E |17 5 1538 168 HAGFEX A3] 0.71] 1:56.13] B§®E [10 2
2[R BEA  [FHEEX X3 | 0.70 52.07| B=® |17 4 2|55 ¥ PERK K2 | 0.73] 1:56.19| BE®E [10 5
3PKE g [FEERK X2 | 0.73 52.22| B® |17 3 380 EE [EILKE K1 | 0.66[ 1:56.23| JuMl 3 5
4|F@EEZNT  IEREX X2 | 0.71 52.45| B=® |17 8 48R EX FERX R2 | ----- 1:56.54| &8 4 4
S5|BER BN |[KREEXF | A3 ]| 0.61 52.69| BA 9 4 ST MR |FURK X1] 0.72| 1:56.60| BEd&= [10 7
6K EX FERX R2 | ----- 52.80| &EB 9 4 6|KHE —=} HAX A3 | 0.75[ 1:56.66| F= 9 5
736 BEE EESN X3 | 0.71 52.85| B® |17 7 7B SERK A3] 0.73| 1:56.87| BEd= [10 4
B8R % FURK X3 | 0.73 52.99] B=® |15 3 8|&ZH Kt [F=REXK K1 | ----- 1:56.99| =& 4 1
9|5% sk |FEX X4 | 0.72 53.33] B® |16 3 o|HE &} HAGFEX X1] 0.74] 1:57.28| B§®= [10 6
10(f80 =&k |ELXFE X1] 0.65 53.35] JuM 5 6 10[XH 18X FERX K1 | ----- 1:57.41| &8 4 2
11|=8F &N [RFX X3 | 0.73 53.36| B®= |17 2 11|75 &8 ESETN X2 | 0.74| 1:58.18] Bi® 9 6
12|% =R RBX X3 | 0.69 53.41] B=® |17 1 12[iF 1B FERX R2 | ----- 1:58.28| &8 4 3
13|A1H £ [LEFRX K2 | 0.69 53.43] B®E |15 5 12(E# B ESEPN X1] 0.72| 1:58.28| Bi® 8 6
14[#1H BE FERX K3 | ----- 53.49| 9 3 14(S8 Bsh  |EEX X4 | 0.72] 1:58.37 H= 7 6
15(R%F 16t HAGKEX X3 | 0.71 53.51] B®= |17 6 1528 BE HARX A3] 0.74] 1:58.43| BE¥= [10 1
16[ILA ==t |FRX X2 | 0.72 53.62| B=® |15 1 16BE BEE HAX A1| 0.71] 1:58.76] HE= 9 3
17(86% 18 HFRK K2 | ----- 53.70| &8 9 5 17[#EiE &K X K2 | ----- 1:59.07| &8 3 4
18T 1B FERX R2 | ----- 53.72| &8 9 2 18[FFl I EEAEX K1 0.66[ 1:59.28| JuMl 3 6
19[8F Misk  |FURX X1| 0.74 53.83] B® |16 2 19| L% S [REXZF K2 | 0.72] 1:59.47( B 6 1
20| SHEXES  [ARERKZ | X1 | 0.67 53.84| B 9 8 20|88 Jih  [IZaEERF A3 | 0.67| 1:59.56| Fir 6 3
21| #EX MEEPN X3 | 0.74 53.96] Bi= |10 4 21|few AH% FRRX X2 ] 0.71] 1:59.66| PBd= [10 8
21 /K IERE HAX X1 0.71 53.96] B=E |11 3 22| Fiafanll BE FERX K1 | ----- 1:59.70( &6 4 5
23|:H E% HFRK K1 | ----- 54.00{ A 9 6 23|t —IR [IIEFERX A3] 0.71| 1:59.82| Bi® 9 8
24|50 B4 [BEEFERAFE | X2 | 0.72 54.01| B9A 9 7 24|+ KfE [IIRFRREK A1 | 0.75[ 1:59.93| HE= 8 3
25| E HFRK K2 | ----- 54.10] 9 1 2558 X BEHAKRF K2 | 0.61] 1:59.97( FHf 6 7
26|IE Jih  [IZaEERF X3 | 0.67 54.12| B9A 9 3 26|HE AIX IEEPS K2 | 0.77] 1:59.99| H= 8 7
27k BX  |[LBEKRF X3 | 0.64 54.15]  JuM 5 7 27|fall & KBRFEARS | K1 [ 0.68| 2:00.16| Fif 5 5
28|lLO BX  [RB\XK X3 | 0.71 54.17] B® |12 4 28|PaER gt |AREEEXR AX1| 0.77[ 2:00.43] HE= 7 3
29|#dx &3 ELTEEX X3 | 0.72 54.23] B® |15 4 29|14 MEst  [FWRERK A3 ] 0.73] 2:00.53] PB§® 7 2
30 Al FBEEA X3 | 0.74 54.25| B=® |16 7 30|#EK & FRERA K1 | 0.74] 2:00.63] HE= 6 2
31|fAmE st [REXF X1 | 0.69 54.28| M@ 8 4 31|FAERSCRER | RBRABARS | K1 | 0.59| 2:00.73] K 4 3
32|HiE T EEAEX X1 | 0.64 54.36] Jull 5 4 32|KF —pk [FEX A3 | 0.77[ 2:00.77 BE= 8 4
EEIEHENEES HFRK K2 | ----- 54.39| & 8 2 33|EHEXER | ABREERAZF | K1 | 0.73] 2:00.92| K 6 6
34| RABINEE  |P=EK K3 | ----- 54.45| haEB 8 3 34 W HREHEREAR A3 | 0.75[ 2:01.12 FB= 9 1
4|RK #2  |EBK X2 | 0.74 54.45| Bi® |14 4 35|5FH #HBXK HAGFEX X1] 0.75[ 2:01.24| B§%® 9 4
36|HHE & HAFEX X1| 0.75 54.47] B=® |16 6 36|0NEE HEiE  [HRIEK A1 | 0.72] 2:01.34] BE= 5 6
7I|E A [EEK X2 | 0.74 54.48| Bi®E [16 4 37| R |EEFEX K2 | ----- 2:01.35| 3 1
38T 0¥ HREHEREAR X3 | 0.72 54.53] B=® |16 1 38|AL ImE |[BIFREX K2 | 0.74] 2:01.42 BE= 2 3
39|E1 X [EILKFE X3 | 0.68 54.54| 5 4 39|HE BfE  [FKXK X1] 0.74] 2:01.47| B9% 9 7
40|48  HF BIFEFHRARY | X3 | 0.68 54.55| Bm 9 2 40|81l EfE  [fERA K1 | 0.72| 2:01.54] JSuMl 3 7
40|ZH KB [P=RX K1 | ----- 54.55| M8 8 5 41|FR X |[FEX X2 | 0.76] 2:01.55| B9=® 4 5
42|18 fF [ERK X1 | 0.69 54.57| B= |15 7 2FE BE|#HRIIX KX1| 0.76] 2:01.58] FE= 8 5
43|KF R2 HFRK K3 | ----- 54.74| & 7 3 43|EH #E TR X2 | 0.67| 2:01.60] PBi=® 8 2
44 |{hrE MEs) FrREREA X3| 0.73 54.76 ESES 15 6 44|k%E M HRIEXR K1]| 0.75| 2:01.74 [EES 6 3
45 A% BX |[LBXF X3 | 0.67 54.77| = 5 5 45(8 HRIEX X2 | 0.78] 2:01.78| Bi=® 6 7
46|=lE AR UMK X2 | 0.62 54.84| Jull 5 2 461 6% | KBRABARF | K2 | 0.73] 2:01.90| FA 6 8
473811 B |SIEREXR X2 | 0.79 54.87| B® |14 8 47| RB KiE HFRK K1 | ----- 2:02.02| 4 6
48|fELIL £ KRFBARF | K1 | 0.62 54.90| Bm@ 8 3 48|iERE ik |RILFHK K3 | ----- 2:02.18| JkEB 2 3
49|5H XK HAGFEX X1 | 0.75 54.93] B®E |16 8 49| A BN K3 | ----- 2:02.31| 9 2 3
5055 MFE  [EBK X2 | 0.72 54.97| B= |15 2 50| SAMIEZT  [EILKFE A3 | 0.64| 2:02.34| 2 4
50|=E &Ha E+EEX K2 | 0.73] 2:02.34] BE= 6 5
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FERER 2016FE LFEKEEHRE 5009 (TOP50)
5B+F 200m {EIAXN/— 5B+F 400m {EIAXN/—

rank K& B | Fi J-) | XR23-R| | K| [rank K& B | Fi J-)L | X&3-R| # | K
1|=/F = FURK X3 0.78 1:57.28 SES 14 6 1|EH KE BAFEHLXRF X3 0.64 4:13.82 5[] 5 4
AEVIEAIEESS A3 | 0.72] 1:59.22] BgE |13 5 2| B |BEABA K1]| 0.66] 4:14.09] 1Ml 2 4
(&L sl VEZ O X1 | 0.78] 1:59.47 SES 14 4 3[EE EE SERCK X2 | 0.68| 4:14.49 B 6 4
AN BHAX A3| 0.76] 1:59.72] BIE |14 3 I GEEIIES A3 | 0.74| 4:15.25| REI% 6 1
BE S ESESN X2 | 0.72| 2:00.14 SES 13 7 DIEE S BAFEHXRF X1 | 0.69| 4:15.32 5[] 5 2
6[#EA ™M SRR A3 | 0.70| 2:00.42 [EEET 13 3 6 | FalkF SLARB KIRAB A | X1 | 0.65| 4:16.60 [ iz] 5 5
7R R hERK K2 | - 2:00.73 Ep 5 3 7R R hERK K2 | -—-- 4:16.67 Ep 2 3
S| AREHE [#HHRIIX A2 | 0.71| 2:00.88 [(EET 13 2 8|k TEdk MEIEIZPN A3 | 0.71] 4:16.69 [(EET 7 6
EIEER hERK K2 | ----- 2:01.18 Ep 4 3 9|2l w4l MEIEEPN X2 | 0.79| 4:16.76 B 6 5
10[F =— BEfaFHRAF | A3 | 0.64] 2:01.28 [ iz] 12 4 NI BHAX X3 | 0.72] 4:17.31 [(EED 7 2
11(1LA ZF=th FURK X2 | 0.76] 2:01.35 SES 14 5 11IREK #HFE BAFEHXRF X2 | 0.68| 4:19.73 5[] 5 1
12 ﬂi thx IEEITTN A3| 0.76] 2:01.42] BgE |14 2 1204718 &K |[MLXF A3 | 0.71] 4:20.22] 1Ml 2 8
13| =ZF B¥E oK X3 | 0.73] 2:01.76 B 14 7 13|EM X ESESN X1 | 0.78] 4:20.67 B 6 3
14| BFHEHRES |[FHEEX A2 | 0.68| 2:01.94] BgE |13 4 14|84 BRiE  [hRK Al | ----- 4:20.75| B 2 4
15| 3RFHERED oK X1 | 0.73] 2:01.95 SES 12 2 15| AEHEBE  |/F)IIKX X2 | 0.72| 4:21.04 B 7 1
16|fAK BE hIRA A3 | - 2:02.20 Es 5 2 16[#EA ™M SRR A3 | 0.73] 4:21.06 [(EED 6 6
17| =8P —AD ELEEX X1 | 0.77| 2:02.21 SES 12 5 17|85 BE hERK K3 | ----- 4:21.43 Ep 2 5
18| TiE Tk MEIEIZPN A3 | 0.70| 2:02.28 [EEET 13 8 18|A & BHAX X3 | 0.72] 4:21.63 [EEET 7 5
19| KIE ShE FELLARF K3 | 0.69| 2:02.32 JUM 5 7 19| 2FHRIER | FfeEX K2 | 0.68| 4:22.28 B 6 8
208 —& EE N X2 | 0.73] 2:02.82 [(EET 12 3 20|87 7T BEABX K1 | 0.67| 4:22.39 JuM 2 5
21| B UNDZRkEZKR X2 | 0.71| 2:02.97 5[] 11 5 21|54 KiE EIEIC S X1 | 0.71] 4:22.62 SED 5 2
22|sefE A |BEFRAYF | A3 | 0.57| 2:03.18] @A |12 7 22[EH & HEEFEX K2 | ---—-- 4:22.73| ohEp 2 2
23|AREE =HE B A¥ | X3 | 0.70] 2:03.38 o] 11 6 23|I &K BRI X1 | 0.64| 4:22.91 FUM 2 2
24|=ih —& BfEFHRAF | X1 | 0.63] 2:03.47 [ iz] 11 7 24| k& H FRIER X1 | 0.75| 4:23.19 S 5 5
25|/ iRE& hERK K3 | ----- 2:03.62 B 5 4 25|#E £B17 ARABEARE | K1 | 0.65| 4:23.55 Bira 4 4
26|h4t KiF  |[BILFRK A1 | 0.73] 2:03.66] BE |12 7 26|ER FE hERK A2 | ----- 4:23.69| B 2 1
27 |HlE BER% JIEIEYE NN X1 | 0.74| 2:03.67 SES 12 8 27 RFE R ok X3 | 0.73] 4:24.61 SED 6 7
28|t A BEa  [ELX Al | ----- 2:03.78| B 4 2 28|EE m#t | KIREBAF | K3 | 0.66| 4:24.84| Famm 5 8
29|38t B ok X2 | 0.74| 2:03.92 SES 13 1 29(RAK 5B KIBKF X1 | 0.78] 4:25.23 o] 4 5
30[5L B%E  |EEFRAFE | K2 | 0.69| 2:03.94| FAr 9 2 0[St A |BFEFBRAY | A3 | 0.65| 4:25.69| R 5 6
31EA K SRR X2 | 0.76] 2:04.27 BIER 13 6 31|k thK ETEEX X1 | 0.74| 4:26.01 B 5 6
32[H#E AKX |ILEEFBRK X2 | 0.78] 2:04.32] BgE |10 3 32|58 Big  [#F)IK X2 | 0.71] 4:26.04| REIE 4 3
33K BAFEHXRF X2 | 0.67| 2:04.47 o] 12 2 33|70 BAE EF=PN X3 | 0.70| 4:26.39 B 5 3
34|HE BE |[BREKX A2 | 0.70] 2:04.53] BE |14 8 34| A RHEE—  [BRBLFBRARF | K2 | 0.67] 4:27.18| BE9A 4 2
35|FMA #F¥ME |[PRERKX A1 | ---—-- 2:04.63| B 4 5 35[0 A& [EE DTN K1| 0.77| 4:27.70| REIE 7 8
36|#IEF AR IEEITTN AX1]| 0.75| 2:04.67| BgE |12 6 35\)IFE 18 [FEPN K1 | ---—-- 4:27.70| ohEp 1 3
37|BE FEA HIRK K2 | ----- 2:04.70| B 5 5 37 M( BA SERK K2 | 0.72| 4:27.95| RMBE 6 2
37| FRPAEKED UNDIRIEKR X1 | 0.67| 2:04.70 [ iz] 10 7 38|2H =X FRIER X3 | 0.82| 4:27.97 S 5 8
39| PR KEB BIEXF X1 | 0.66| 2:04.79 HapL 5 4 39 7’(6 = 1aRX X3 | 0.68]| 4:28.78 FUM 2 1
40|21 &K [@wEX A1 | 0.66] 2:05.02] Suml 5 2 40(=E 2 [ELEKX AX1]| 0.89] 4:29.13| REIE 4 5
41 |HIEG ZER% BEAE K X1 | 0.67| 2:05.03 JUM 5 6 41|1REE K& VEZ TN A1 | 0.80| 4:29.96 B 7 7
R2|%= thE  |[LBXF A2 | 0.65| 2:05.13] thrm 5 6 42|/MLE—BB [ KBRBEBEKXRF | X2 | 0.62| 4:30.01| PBIF 4 7
43|k EIE BIFFRAS | K1 | 0.68| 2:05.19 Bira 10 5 43[R I8 FrBEEX X3 | 0.68| 4:30.09 B 4 6
44| REEH EESIIEN AX1]| 0.78] 2:05.25] BE |11 7 44|G388 sl [UhZmigX | A3 | 0.56| 4:30.15| PBIF 3 3
45|57 H = oK X3 | 0.67| 2:05.26 BIER 11 5 45|54k Hit BAHIBEKX el 4:30.93 Ep 2 6
45[8RIL K [FEAF A3 | 0.69| 2:05.26| FEiF 8 2 46|8% Bit  [FEFREX A3 | ----- 4:31.30| dtEp 2 3
47 |WhE 1B AIRAEARE | K2 | 0.66] 2:05.33 o] 11 3 47 |#)1] #X fBREAR X3 | 0.65| 4:31.52 FUM 21 10
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45|[A e |FHEEX A3 ] 0.64| 1:06.11| Bd=® 5 8 45|51 ¥5  |[BRREX X2 | 0.77| 2:39.53| BE§® 2 4
46| EX HAGFEX A1 | 0.65[ 1:06.23] BE= 4 4 46/t BIFE  [BEIK A3 | 0.74] 2:43.96] H= 2 5
47|38 &2 [RE/llZFK | K2 | 0.62| 1:07.00| K 2 5 47|18E Big  [BaFhRX X2 | 0.69| 2:44.00] PB=® 1 3
48|AF tiB  |[MlaX K1 | ----- 1:07.43[ dt&B 1 4 48|31E BN [RSUERIX K2 | 0.62] 2:44.69| H= 2 6
49|98F & EZ[EEEN K2 | ----- 1:07.81| k8B 1 1 49 HF  |BRK X1] 0.73| 2:47.47| B=® 2 2
49|=% k= |[MlaX R2 | ----- 1:07.81| dJE&B 1 2 50|Ax BY  [REXF A3 | 0.61] 2:48.49| FEdm 1 5
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FEESS 2016FE FFHKERER 50+

(TOP50)

TZF 100m FKF ZF 200m FEKEF
rank K& e | 56| RT J-)L | X&3-R|# | K& [rank K& e | 6| RT J-)L | X&TJ-R| # [ K
NEE R IIEEES R2 | ----- 1:07.76 iy 3 3 1|fafHDIE BAGKE X A3 | 0.77| 2:25.36| PBIE 5 4
2|RED BE  |HIEX A3 ] 0.81] 1:08.06] Bd= 6 3 EEE RS K2 ----- 2:26.43| EB 2 3
FEEIEEINEEESS A2 | 0.79] 1:08.56] BE= 7] 4 3[EA #F [#x)K A3 0.72] 2:27.70] &= 5 8
4 IOF2H% |BFEFEKX A1| 0.74| 1:08.83| PBd=E 7 5 4|SEREE  |PRKX A3 | - 2:28.77| HaEp 2 4
5| EH #7F  |[#H/IIX A3 | 0.71] 1:09.20] BE=x 7 8 FIEEES BEAKRE | A1[ 0.69] 2:29.01] B9m 2] 4
5|8k Bt |[BEERK X2 0.77] 1:09.20] ®E&= 7 2 6 A FRA K1 | ----- 2:29.69| B 2 2
7| EEHEES AKX A3 | 0.83] 1:09.85] ®= 7 3 RRES I ESE SN A1 0.75] 2:30.25] BE=% 5 5
8lpaEp & BEEAF | A1] 0.68] 1:09.92] Bam 4 6 8| AFNMEBARM |EERAA A1 0.88] 2:30.30] B9= 4 6
o|EBENE |[hEREX el 1:09.95| hEp 3 4 9| Bl Bid EERA A2 | 0.79| 2:30.45| PR 5 1
10[FH BFE  |BEXF X1 0.69] 1:09.96] 3] 4 10|BE TB |FTESRKX A3 ] 0.77] 2:30.81] BE9= 4] 4
11T Bk [2%K A3 0.79] 1:09.97] ®E&= 6 5 11X8 Bk [7BX A3 0.79] 2:31.62] ®EE= 5 7
12|FEM#HIE EESEEPN X3 0.79] 1:09.99] ®E&= 7 6 R2|A+EBRE |[EEAEX X1 0.71] 2:31.87] Hfum 1 5
13t =75 FIFFRA A2 | 0.80] 1:10.62] BE=x 7 7 13| B3 FORK X1 0.77] 2:31.89] ®E&= 5 3
14| A+EBE |[BEAEXK A1| 0.70| 1:11.04| JuM 2 5 14|/RE =X MEIEIZPN AX1| 0.76| 2:33.38| PBdE 4 3
15|BE FB [FTEERK A3 [ 0.77] 1:11.24] B@=% 6 6 158 FR [XREXF X2 | 0.72] 2:33.97] ®E&m 2 6
16[iE IFE KIBKF K2 | 0.74| 1:11.63| PBIF 4 8 16[IUF 2R{E BEfEFHRAF | X3 | 0.67| 2:35.02| B 2 1
17]|BR BEF [KRAEBAFE | A1 [ 0.72] 1:11.90] ®E&A 4 2 17[F0 B [MEXF K1 0.70] 2:35.25] 1 4
18|AIEaE®  |[RELF A | A3 | 0.72| 1:11.93] E&#A 4] 4 18|AIEEE®  |[®E)ILZF A | A3 | 0.69| 2:35.48| EF 2 5
19|=HFZED  [B¥EX A2 | 0.75] 1:12.19] BE=% 7 1 19[ASHE  [HLAhK X1 0.67] 2:35.88] E= 4 7
20[|fEH BiR  [3EK X2 | 0.74] 1:12.69] ®E@= 6 1 = GEIEIESESS X2 | 0.78] 2:35.99] ®E&= 5 6
21[B% B& |lIEBEZE] A2 | 0.71] 1:12.84] W 3 5 21|BEHha SEIRK X1 0.74] 2:36.07| E= 4 5
22|7BXBEBTF |[BEBEX X2 | 0.74] 1:13.06] ®E&= 5| 4 22|AR BEF [ AREBAFE | K1 | 0.69] 2:36.12] EA 2 2
23[IUTF *ie [BEEFRAFE | X3 [ 0.68] 1:13.30] HEA 4 1 23|[FE = FRFEXR X2 | 0.81] 2:36.63] EE= 4 8
24|{EBEEINF | JUNHEIIK A1| 0.73| 1:13.38| JuM 2 6 24| HkR M EFCEIEPN A3 | - 2:36.70| &P 2 5
25[IE BEF [ABRERAZE | X2 0.71] 1:13.57] EA 3 5 25|k% Bx [mEHAEKX K1 0.73] 2:36.99] Fuml 1 6
26|=F #FEH BEREAK A1| - 1:13.67| 43 1 3 26| A ¥ SRS A2 | 0.77| 2:38.19| PBdE 3 4
27|HR M EEETEPN A3 [ ---—-- 1:13.70] & 3 5 27|@ Bl [RE)IZFA | X2 0.67] 2:39.00] E&A 2 3
28|18 ¥E LBEFERFE | A2 0.81| 1:14.04| 3 7 28|=LF #FEH BRREK K1| - 2:39.57| dtEB 1 3
29[ BtEnhe SERUK A1 0.75] 1:14.05] ®E= 6 7 29[FM FW  [UhcmiEXR | K2 0.72] 2:39.74] EA 2 7
30|FARENM |ElRAFE AX1| 0.74| 1:14.07| P& 3 3 30|fEBEEINF | UNFEIIK A1| 0.78| 2:40.51| JuM 1 7
31@ Bl [REZFA | X2 [ 0.67] 1:14.22] EA 3] 4 B IEEINESSS A1 0.80] 2:40.55] B= 4 2
31|FEE W3 EFEX A1| - 1:14.22| i 3 2 32|fFEE W= EFEAX K1| - 2:40.89| B 2 1
3378 & FRIER A2 | 0.81] 1:14.29] BE= 5 5 G EESAEESSS A1 0.74] 2:41.22] B@= 3 5
34|% P [FEEFEK A3 | ----- 1:14.58] & 3 1 S ERA X1 0.75] 2:41.60] M= 3 2
35|K%¥F B [E]=ESERN K1| 0.73| 1:14.77 FuM 2 3 35| K FEE LERERE | K1 | 0.72| 2:41.62 HapL 1 5
36|5M KB [EHA X2 0.73] 1:14.85] ®E&= 5 6 36|lLH B4 [FiLFREX A3 | ----- 2:41.93] it& 1 4
37|EMENT |[EREIX X1 0.84] 1:14.97] B&= 4 7 37|ME #E [ KREBAZE | K2 [ 0.71] 2:42.92] HEA 2 8
38|ILH E#A HILFREAK A3 | - 1:15.19] &3 1 4 38|ARENM |EmAF A1| 0.78| 2:42.94| PBf 1 4
39[BF e [&HEX A3 | 0.61] 1:15.34] Ml 2 9 39[@HE =L [BBAFRK A3 | 0.76] 2:43.10] M= 3 6
40k VE N X2 | 0.74] 1:15.49] ®E&= 6 8 40|BH BiE |82 X3 | 0.61] 2:45.05] Ffum 1 2
SIS ESIESS A3 0.79] 1:15.72] ®E&= 5 2 41 B VESUN X2 | 0.74] 2:45.20] ®E&= 3 3
DR EAAEF |[Fa4MEEAX | A2 | 0.77] 1:15.75] BEx 4 2 BIESES I E S X3 0.78] 2:45.32] ®B@= 3 7
43|F5x = BRA A1] 0.80] 1:16.09] BE= 4 5 43| TEAEE |[HBEAF A3 | 0.70] 2:46.31] ®E&m 1 3
44| K R LBEFERFE | K1 | 0.73| 1:16.28| 3 2 44|91 B EEE DN K1 | 0.93[ 2:49.95| PIxR 2 7
45|12 & BHEFEA K2 [ ----- 1:16.42 ohEp 3 6 45|KE FE  [BEX K1 0.74] 2:50.99] ®E&= 2 6
46[HE =4 [BEEFEREX A3 | 0.75| 1:16.78| HEI&E 5 8 46|1ILE HfE [BEKF A3 | 0.71] 2:55.29| thpm 1 3
47[%F8m BF  [liEX A1 - 1:16.94| 4t 1 2 47|88 =6 [FERX A1 0.87] 2:56.76] BE= 2 2
48|REl FEA |FRFEK X3 0.83] 1:17.20] ™= 4] 4 48|Ha BE  [FERX X3 | 0.79] 2:57.24] B@= 3 8
49[kE RE |[LZFREE A3 [ 0.81] 1:17.28]  Jul 1 6 49[ILA Wi [EEX K1 0.83] 2:57.43] E= 3 1
S0[fL A1E [BIKF X2 | 0.79] 1:17.77] =m 3 3 S50[KE kK [BEX A2 0.83] 2:58.58] BE9=x 2 5
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FEESS 2016FE FFHKERER 50+

(TOP50)

TF 100m NTI5A

TF 200m NTI5A

rank K& FRiE&in [ ¥ | RT J-)0 | R&J-R|# [KE&| [rank K& FRE&in [ ¥ | RT J=-) | KR3-R[ #8 [ K&
EEIEDE BR’AX X3 | 0.71 58.66| PBi® 6 4 1[EEHER  |BHEEX X2 | 0.75] 2:09.15| PBi® 4 4
20%R fME  PREK X2 | 0.80 59.53| BE9® 6 5 2[&F ER& HAFEX K1 | 0.72] 2:09.44] BE= 4 3
3[1BE HL HFRK K1 | ----- 59.54| HEB 3 2 3[R & B ERAX X2 | 0.82| 2:11.58| Bi® 4 5
4| FILRER  [HUEX X3 | 0.79 59.61| PB9= 6 3 4|TE KF BEHARF AX1| 0.63] 2:11.80( Fif 3 4
5[feR B MEETPN X3 | 0.75 59.76| PB8® 6 7 BRI EESIES X2 ] 0.83] 2:11.98 Bi® 4 1
6|E5AR BiE |RFK X2 | 0.77 59.94| PB9= 4 6 RIS FERX R2 | ----- 2:12.23| 1 3
UG ESE PN X1] 0.73[ 1:00.15| B9=® 5 4 UES BEHAKRF K2 | 0.63] 2:12.33| M 3 5
8|HF HEF [FEX A3 | 0.78] 1:00.23] HE= 6 1 8|HR Bf | KIREEAF | K2 | 0.71] 2:12.50[ B 3 3
9| & #E |BAEEX K2 | ----- 1:00.32| 8B 3 4 o388 ¥ REFEX K3 | ----- 2:12.57| 9 1 4

10[FEWER  |FfEAX X2 | 0.74] 1:00.33] BE= 6 6 10[EA BIFEAF A3 | 0.67[ 2:12.92| FEF 2 1
111FH FE [FRK X1] 0.70{ 1:00.51| B=® 6 2 115 8 [BIEEX K2 | ----- 2:13.26| 1 5
12|78 2R EEGIN A3 | 0.73] 1:00.53] BE= 5 5 12|H& HE  [FuEEREKX A3 | 0.74] 2:13.34] HE= 3 8
13[FEe & HFRK K1 | ----- 1:00.68| &8 3 5 13|51k A ELEEX X1] 0.77| 2:13.52| B§% 4 2
14[REthER | KIREBRAF | X4 [ 0.61] 1:00.80| FifA 4 3 14[fEa & |PxRX K1 | ----- 2:13.87| H# 1 2
15F%a R HFRK K2 | ----- 1:00.95| &B 3 3 15|MHE &F [HEX A3 ] 0.75[ 2:14.45| B9=® 3 4
16|28 = FRERA K2 | 0.81] 1:01.02 FB= 5 6 16[HFR BF |HEX A3 | 0.78] 2:15.23| HE= 3 2
17|Z& KF BEHAKRF K1 | 0.63] 1:01.05( Fm 4 5 17| ERSEEE [FURK A3] 0.76] 2:15.41| B§® 4 6
18|&F EXE HAFEX A1 0.73] 1:01.07 BE= 5 8 18[/N& B¥  |IdfEXRF K2 | 0.63] 2:15.44| FEm 2 8
19(tBH 73 RE)ZFX | K2 [ 0.64] 1:01.16| FiFA 4 4 19PA4 =k [RE)lI&ZFK | K3 | 0.68| 2:15.57| K 3 7
20| ARIZEH  |BEKREAX X2 | 0.73] 1:01.21| JSuM 2 5 20|l BfE [FBEREK K2 | 0.76] 2:15.69| HE= 3 6
PEEESEEIEN SN A3 ] 0.74[ 1:01.27| B§%® 5 3 21| =mHR ([HEEEX X1] 0.79( 2:15.82| B§® 4 8
22|l pse [REXF A3 | 0.72] 1:01.38] Fim 4 8 22/N\EREE |BEERZEX A1 | 0.79] 2:15.94| HE= 3 5
23fEAAETE  [EEEX X1] 0.82| 1:01.45| B9% 6 8 23/0NF B |HEIEERX K2 | ----- 2:16.48| JtEB 1 3
24|21 BxA& FERX R2 | ----- 1:01.47| &8 3 1 24|46F ¥ RBFEX K3 | ----- 2:16.51| B 1 6
25|18 X |FBEREX A3] 0.72| 1:01.57| B§%® 3 4 251K BB JUMHIIX K3 | 0.66[ 2:16.52 JuMl 1 6
26|fERERIE  [HR/IIX A3 | 0.71] 1:02.20f BE= 4 7 26| ABFREF  |[HE)ILZFA | K1 | 0.68] 2:16.85| EA 2 7
27| R BfE | REXE K1 | 0.67| 1:02.23| M 3 5 278H X |FFK X1] 0.77| 2:16.95| Bi=® 4 7
28| %M #E  |HE)IZFA | K2 | 0.68] 1:02.27| EA 4 1 28|=H I [REXF X2 | 0.70[ 2:17.38| Fim 3 2
29[MIttBARE  [FTREREAX A3] 0.71| 1:02.28| Bd® 4 8 29|hE Bf [REXF K3 | 0.67| 2:17.48| FHm 3 1
20188 W RIEX A3 | 0.74] 1:02.28] HE= 4 5 30|58 Mx  [HEXF A3 | 0.72] 2:17.49| FEmA 2 4
318F £t |EBXK A3] 0.81| 1:02.29| Bd=® 5 7 31|48 I [IZ6EEAT K3 | 0.63] 2:17.78 FHm 2 5
2N\EEEE  |BEERZEX AX1| 0.78] 1:02.34] BE= 4 2 32|E BEF [REIIEFA | K2 | 0.62] 2:17.91| EA 1 4
B3PI FR - |FHEEHK X1] 0.78] 1:02.48| Bi® 5 2 33|tEH FT RE)ZFX | K2 [ 0.67] 2:17.92| FEiFA 3 6
34|EM AR [#RIX X2 | 0.82] 1:02.49| H= 4 1 34|%M #E  |[KEIIZFA | K2 | 0.68] 2:17.99| HA 2 6
35K #E  |ERERFEX A3] 0.71| 1:02.52| B§® 3 1 35(fER BTE | KBREBRAZ | K3 | 0.78] 2:18.35| BA 2 3
36|IUA WHF [ JuUNHZIXK A3 | 0.72| 1:02.56] JFuMl 2 7 36|42 8E | AREBXF | K1| 0.71] 2:20.16] HEA 2 2
37|kl ¥ HafhX A3] 0.76] 1:02.60| Bi=® 4 4 EUESEIES LEXF K3 | 0.70{ 2:20.81| JuM 1 4
37|81 2R E+EEX AX1| 0.78] 1:02.60( FB= 5 1 38|IUA #% |BEFERAF | K2 | 0.70] 2:21.29] EA 1 5
39|@fI Bk [AILXK K3 | ----- 1:02.68| &8 2 4 IR BE | KEXFE K1 | 0.66] 2:21.56( M 3 8
9|MHE X |FEX A3 | 0.75[] 1:02.68] FE= 4 3 40[FHN Mk |BAIBX K2 | 0.75] 2:21.76] BE= 3 3
41|K&E B BEHAKRZE K2 | 0.66] 1:02.79( FHm 3 4 41 [JEIpE ENELES X2 | 0.84] 2:22.06] Bi=® 2 4
42|5H FMx  |BEXF A3 | 0.72] 1:03.03| FEf 2 5 42| Fg KF EEGIN A1 | 0.79] 2:22.90 HE= 2 5
428 ER |RE)IZFA [ K3 | 0.68| 1:03.03| FEifA 3 3 43| KRE FE  [EFEKX K1 | ----- 2:23.02| 9 1 1
44| ERSHF  [EMNX R2 | ----- 1:03.14| &8 3 6 44|1H HP KIEXF A3 | 0.74] 2:23.19| FEmA 1 3
45/ BB [FRItFX K2 | ----- 1:03.15| 1k&B 1 3 45|FF O [EEaXF K2 | 0.63] 2:23.22( M 1 7
46|k HBEF |RENIZFA [ K2 | 0.62]| 1:03.17| FA 3 7 46| ERTEF [RBX K2 | 0.78] 2:23.41| HE= 3 1
47| KERALE  [ELEX A3] 0.78] 1:03.59| Bd=® 3 8 47|89l EF | REXF K1 | 0.76] 2:24.57( M 1 6
48|HE WF EEGIN A3 | 0.70[ 1:03.68] FE= 3 5 48|51 & |[<KBULEEBRAT K1 | 0.77] 2:29.76| M 1 4
49(FIER HATE [ ABREBRKZF | A3 | 0.76] 1:03.80| K& 3 6 49|EF X [BRETX X4 ] 0.85[ 2:29.97| B9® 2 6
50|42 8% | AREBAXF | X1| 0.68] 1:03.99] H& 3 1 S50|AR B |MEXFE X2 | 0.67] 2:32.52| FEim 1 1
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FEZRR 2016FE £FHKBEFR 50+>J (TOP50)
TF 200m EAARL— TF 400m BEAARL—

rank K& FRE&Mn | F#6| RT J-) | R&EJ-R| #8 [ KE&| |rank K& FRE&Mn | F#6 | RT J=)b | AR3I-R | #8 | KE§
1[ESELEF |FHREX X2 | 0.76] 2:09.97| B9® 6 5 1| XK BfE AKX X1] 0.78| 4:42.04| B9% 4 4
2|lLH T2 LLZFFER X2 | 0.75[ 2:12.29| B9® 6 2 2| B B RN K2 | ----- 4:42.44| 8 2 3
3B BN RN K2 | ----- 2:12.68| B 4 3 3[R R |[#MR/IIX X1] 0.76] 4:43.36| PB9® 4 7
4mR FE PERK X2 | 0.81| 2:13.78| PBd® 6 4 4|FHEAEE  [PRX K1 | ----- 4:45.59| & 2 1
5[EM BE  |[#R/IIXK X1] 0.72| 2:13.99| Bd® 6 7 S5UIR 23 LLZFBER X2 | 0.87| 4:46.11| B9® 4 6
6|1 £/ [EFEKX K1 | ----- 2:14.29| 9B 4 4 6|G% R [IEK X1]| 0.75[ 4:46.45| PB9=® 4 2
718 FBR[#ERIIK X1] 0.77| 2:14.92| B9% 6 6 7| K7 @ | KBRABXTF | K2 | 0.63| 4:47.30| EA 2 4
8|IRED &E  |BEX A3 | 0.82] 2:15.24| HE= 4 3 8|AR Bin  [#R/IIX KX1| 0.76] 4:47.37 HE= 3 3
EINEEET MEEPN X2 ] 0.86 2:15.32| PB§® 6 8 oM £/ |EFEX K1 | ----- 4:47.58| HEp 2 5
10[FHEFMEE  |PRK K1 | ----- 2:15.55| H§ 4 6 10[5® HE FERX K1 | ----- 4:48.19| =& 2 2
11K @i | KRHEEKRF | K2 [ 0.65| 2:15.65| FfA 4 4 11(ER8 B |[lREEX X2 | 0.88] 4:48.23| Bi® 4 1
R2|\RTEF [HIEX AX1| 0.70[ 2:15.76] BE= 5 3 12[FK B |#RIIXK K2 | 0.77] 4:48.34] HE= 2 4
13|Ak Bin  [#RIIX X1] 0.76] 2:16.05| BI=® 5 6 1I3/N\EFFRE [RFX X1] 0.80[ 4:49.38| PB® 4 3
14[NFFRE |RFX KX1| 0.76] 2:16.43] HE= 6 3 14|9R B%  [KIREEXF | K2 | 0.77] 4:49.90| B 2 8
15|% EE PR K1 | ----- 2:16.53| 4 1 15/#8 & ESEPN X4 | 0.74] 4:50.04| B9=® 3 7
16|ACZLE EESIIEN X2 | 0.72] 2:17.20f BE= 5 7 16| KEFEREF |RE/IZFA | K1 | 0.67| 4:51.05| FFA 2 6
17)a8 A HFRK K1 | ----- 2:17.26| 9 4 5 17|HOZLE #R/IK X2 | 0.71| 4:51.99| B9® 3 8
18[RE Bt |EEX KX1| 0.76] 2:17.36] HE= 4 4 18|RE ¥ IEEPS K1 | 0.75[ 4:52.09| HE= 3 6
19| FIx  |FEERX X2 | 0.78] 2:17.40| B9® 5 5 19(A M UDIREAR | K3 [ 0.63] 4:52.39| FEif 2 7
208K SEE  |HFK AX1| 0.76] 2:17.43] HE= 6 1 20[#8H FIX  |FBEEA K2 | 0.75[] 4:52.59| HE= 3 4
21 /M #kF AR A3] 0.82| 2:17.48| Bi® 5 2 21|FHES (B X X2 | 0.79| 4:53.21| B§® 4 8
22| XHFREF  |[HEIIZFA | K1 | 0.65] 2:17.51| EA 4 5 22K SBE |FFK KX1| 0.76] 4:53.22| BE= 4 5
23| pOse [ REXF K3 | 0.68] 2:18.06( M 4 7 23|=H K |FREEX A3 ] 0.75[ 4:54.13| BE§® 2 5
24|BEK BF IEEPS A3 | 0.74] 2:18.54] HE= 5 4 PZAESTINES EEGIN K1 | 0.80[ 4:55.00{ FB= 3 1
25(pEs & BEHAKRZE K1 | 0.68] 2:18.88( M 4 6 25|91 ¥ |EEXFE K1 | 0.71] 4:56.32( M 1 4
26|fHtk & RBX X4 | 0.73] 2:19.04] BE= 5 8 26|18 B  [FEX K1 | 0.83] 4:58.22 BE= 2 6
27|l ME UDIREAR | K3 [ 0.63] 2:19.05| FEif 3 4 27|ILEH #F REFEX K2 | ----- 4:58.27| & 2 6
27 |8F5 AiE EEGIN K2 | 0.74] 2:19.05 HE= 4 5 28|BE &7 SHAKX A3 | 0.78] 4:58.38] E= 2 3
29|hR B8  [ELXF K2 | 0.65[ 2:19.06 I 3 4 29/MR XD EBEEHX A3 ] 0.72| 4:59.20 B® 3 2
30|l mRF  |BAEEKFE K1 | 0.66[ 2:19.28| FEf 4 1 30| FaERL3¥ EEGIN A3 | 0.74] 4:59.30( BE= 2 1
31IUH  # RBFEX K2 | ----- 2:19.42| 9 3 3 31|ARERE  [FEX X2 | 0.79| 5:03.08 PBi=® 2 7
32|F&a EN [HE)IILZFA | K3 | 0.63] 2:20.14| EAE 4 3 32|EBHHNA IEREERTF K2 | 0.64| 5:04.71| FEim 1 5
33| i=H] A% HafhX A3] 0.71| 2:20.19| B§%® 4 2 33|18l ¥ [REXF K1 | 0.76] 5:04.83| M 2 1
34| EHEEE BfEFlRAY | A3 | 0.67| 2:20.91| EjF 3 5 34|mEE KK |BEKXFE AX1| 0.70[ 5:07.11| F§f 1 3
35| KK BZE | BAEEX K3 | ----- 2:20.95| 3 4 35%H BfE  [IEK X2 | 0.75[ 5:07.88] PBi® 2 2
36|IlE 5fFE [ AREBRKXZF | K1 | 0.72] 2:21.61| BEA 3 6 36|48 HRERK K1 | ----- 5:11.21| 1 4
7 hE HFER | KEXFE K2 | 0.71] 2:22.27( HEf 4 2 37|ILH Bf%  |FEtERX K3 | ----- 5:12.52| Jt&B 1 3
38/\FF BEE  |HItFRK R2 | ----- 2:22.62| JLEB 1 3 38U RE  [EFEKX K1 | ----- 5:18.52| H 1 3
39BN EHK  |FEFEX K2 | ----- 2:22.92| 9 3 2 I ME £ |FRFEKX A3 ] 0.72| 5:19.65| Bi® 2 8
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